[ Efficiency vs vertpos |

~0.02

D 018F----eerieeeeenes
% 3 :
D.016F---eeriveeeens
<) 3 :
B.014 - oeeieeeeeeee
o o
R B S

0.01H
0.008F-
0.006E-
0.004F
0.002

Efficiend

~ 0.0

F

...........................

............................

............................

0 A S R 1 I 43 U

-+

1072 107

1 10 0?
TP vertr (cr%)

—=— DQM_TT _original
—— DQM_TT_newscoreonlyINIT

D.000F- 5o g deees
%) N N
B.008F -+ ] oo
I : :

&) .
D.007f -1
k. :

0,006+
o : :
0.005F -3+ f{|fp -+
0.004F -5 {1t -
0.003F -+ [f
0.002F =+ |
0.001 -5+
N R I

1.2

Ratio

G| PP

..........................

.......................

0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.01
>
£0.009
B.008
9.007
>
B.006
R
$#.005
(]
0.004
0.003
0.002
0.001}

e
1.2

Ratio

1.

|

et

(@]

of T
(@]

n

i

J

[

5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


